Question Paper Code : 6057

B.Sc. (Semester-1I) Examination, 2017

AGRICULTURE
| Seventh Paper |

( Introduction to Agricultural & Natural
Resource-Economics & Farm Management
Economics)

Time : Three Hours] [Maximum Marks : 50

Note : Answer five questions in all. Question No. 1 is

compulsory. Besides this, attempt one question from

each units.
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Economic System
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Static and dynamic
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Nature of indifference curve
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Production function
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Misuse of irrigation water
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Different types of forest
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Ground water resources in India
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Optimum output
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)] Opportunity Cost
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gricultural economics 7

What do you know about 2
[7%]

Discuss its subject matter in detail.

he nature of technological changes in
sectoral relationships
[74)

Analyze t
agriculture. Also discuss the inter-

of agriculture.
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returns to scale. How is it useful in

Discuss the law of
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What is law of demand ? Elaborate upon the elasticity
of demand. [7%]
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Write briefly on the following : [7%4)
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(a) Land use
g ITE
{b) Cropping intensity
T gl
(e} Forest conservation strategy in India
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Review the expansion of irrigation potential in India.

What are the major shortcomings of irrigation strategy

of India. [7V]
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UNIT-IV / SEE-IV

What are major similarities and differences between
agricultural economics and industrial economics 7 How
can the agricultural economics be made more

rewarding to farmers ? [7%]
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Differentiate between short run and long run costs.
Show the relationship between various types of costs

in short run with diagram. [7Y4]
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